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1. (i)         Qd = 300 - 4P 

             Qs = -60 + 8P 

xU Fwpg;gpl;l nghUSf;fhd re;ij Nfs;tp kw;Wk; epuk;gy; rkd;ghLfs; NkNy 
fhl;lg;gl;Ls;sd. 

(a) re;ij rkepiy tpiy> rkepiy njhif vd;gtw;iw fzpg;gpLf. 
(b) rkepiyapy; tpiy rhu; Nfs;tp nefpo;r;rpia fhz;f. 

     (ii) ,e;jg; nghUSf;F muR &.6 myF tup tpjpj;jhy; 

(a) tupf;F gpd; epuk;gy; rkd;ghl;il fhz;f. 
(b) tupf;F gpd; Efu;Nthu; nrYj;Jk; tpiy vt;tsT? 
(c) Xu; myFf;F Efu;Nthu; Vw;Fk;; myF tup vt;tsT? 
(d) tpw;gidahsUf;F fpilf;Fk;; tpiy vt;tsT? 

     (iii) r%f eyd; ,og;gPL vt;tsT? 

2. Qd = 300 – 4P 

Qs = -60 + 8P 

(i) re;ij rkepiyapy; epuk;gy; nefpo;r;rpia fhz;f. 
(ii) rkepiyapd; nghUshjhu kpif vt;tsT? 
(iii) murpdhy; &.6 tup tpjpj;j gpd; myF tupapdhy; Efu;Nthu; kw;Wk; cw;gj;jpahsu; 

ngWk; tup msT vt;tsT? 
(iv) tupapdhy; muRf;F fpilf;Fk; tup tUkhdk; vt;tsT? 
(v) Tupf;F gpd; Efu;Nthu; kpif kw;Wk; cw;gj;jpahsu; kpif vt;tsT? 

 

3. Qd = 300 – 4P 

Qs = -60 + 8P 

(i) nghUSf;F muR Mff;$ba fl;Lghl;L epu;zak; nra;jhy; re;ijapy; Vw;glf; 
$ba tpisTfs; vd;d? 

(ii) Mff;$ba fl;Lghl;L tpiyapy; re;ijapy; Vw;gLk; fWg;G re;ij tpiy vt;tsT? 
(iii) xU Efu;NthUf;F Mff; $ba fl;Lg;ghl;L tpiy nfhs;ifapdhy; cUthf;ff; 

$ba tpiy my;yhj eltbf;iffs; vit? 
(iv) Mff; $ba fl;Lghl;L tpiyia nfhz;L cUthff; $ba kpif Nfs;tpia 

fzf;fpLf. 
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(v) fl;Lg;ghl;L tpiyf;F gpd; epuk;gy; njhif ve;jstpdhy; FiwtilAk;? 
4. Qd = 300 – 4P 

     Qs = -60 + 8P 

(i) Nkw;Fwpg;gpl;l gz;lj;Jf;F murpdhy; &.6 khdpak; toq;f jPu;khdpj;jhy; 
khdpaj;jpw;F gpd; re;ij rkepiyia fzf;fpLf. 

(ii) khdpaj;jpw;F gpd; cw;gj;jpahsu; kw;Wk; Efu;Nthu; kpif vt;tsT? 
(iii)khdpaj;jpw;F gpd; thbf;ifahsu; nrYj;Jk;  tpiy kw;Wk; tpw;gidahsu; ngWk; 

tpiy vt;tsT? 
(iv) murpd; khdpar; nryT vt;tsT? 
(v) khdpaj;jpdhy; Vw;gLk; r%f eyd; ,og;ig fhz;f. 

 

5. Qd = 300 – 4P 

Qs = -60 + 8P 
murpdhy; NkNy Fwpg;gpl;l nghUSf;Ff &.40 tpiyapy; tpiy MjuT nfhs;ifia 
mKy;gLj;Jfpd;wJ. kpif epuk;giy muR nfhs;tdT nra;Ak; jpl;lj;jpd; fPo; 
nfhs;tdT nra;fpwJ. vdpd; 
 
(i) ,e;j nfhs;tdT jpl;lj;jpd; fPo; muR jhq;Fk; nryT vt;tsT? 
(ii) nfhs;tdT jpl;lj;jpw;F gpwF Efu;Nthu; kw;Wk; nfhs;tdthsu; kpif vt;tsT? 
(iii) Fiwe;jgl;r fl;Lghl;L tpiyapd; tpisT vd;d? 
(iv) Fiwe;jgl;r fl;Lghl;L tpiy nfhs;ifia mu;j;jKs;sjhf;Ftjw;F Nkw;nfhs;s 
   Ntz;ba nraw;ghLfs; ahit? 
  

                        


